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Tl | R IR g i EECE AL % Beo| BTOA H R W
S 2 B

FIEEA T | EEEDIET | t=15cmPh T 5.1+45. 1 m 10.2 10.0
AL L | t=15cmPL T X & Y n2 510. 00 510.0
R E X & Y n2 510. 00 510.0
FE t=dem i L Y n2 510. 00 510.0
gyt As 510.0X0. 06 m3 30. 60 31.0

R A
X W=15cm 100%2 m 200.0 200.0

R LG

FIEEA T | EEEDIET | t=15cmPh T 5.75+5. 75 m 11.5 12.0
AfSEIUE L | t=15cmPL T X & Y n2 132.25 132.0
R E X & Y n2 132.25 132.0
#E t=5cm i L Y n2 132. 25 132.0
syt As 132. 25X0. 05 m3 6.61 7.0

R A
X W=15cm 23. 0%3 m 69.0 69.0

LF A
X W=15cm i Bx 16.5 m 16.5 17.0

N1 B

FIEEA T | EHEDIET | t=15cmPh T 5.645.6 m 11.2 1.0
AL L | t=15cmPL T X & Y n2 78. 40 78.0
R E X & Y n2 78. 40 78.0
#E t=dem i L Y n2 78. 40 78.0
syt As 78. 40X 0. 05 m3 3.92 4.0

R A
X W=15cm 14. 0%2 m 28.0 28.0

EL RS IONECPR )
X W=15cm 4.1 m 4.1 4.0

LF A
X W=15cm i B1 16.5 m 16.5 17.0

ke

sy—veiq | W=30cm 0.3%14.0 n2 4.2 4.0
FIEEA T | EEEDIET | t=15cmPh T 5.4+5.4+3.8 m 14.6 15.0
AfEIUE L | t=15cmPl T X & Y n2 82. 55 83.0
R E X & Y n2 82. 55 83.0
#E t=dem i L Y n2 82.55 83.0
syt As 82.55%0.05 m3 4.13 4.0

R A
X W=15cm 13.0 m 13.0 13.0

X#: s (IR
X W=30cm 2.1 m 2.1 2.0

AR - A
X W=15cm 3.8 m 3.8 4.0

LF A
X | W=15em i 17.6+17. 6+29. 3 m 64.5 65.0

Fi B (1)
X W=15cm 6 m 6.0 6.0

EL RS IONECPR )
X W=15cm 4.1 m 4.1 4.0

ke

sy—veiq | W=30cm 0.3%10.0 n2 3.0 3.0
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T M| ® Bl R s FHR HAL | %% BO| MR &R £
IS B
AT | SO | t=15emPl 4.6+6.5 m 1.1 11.0
ARSI L | t=15embh | HfE LD m2 195. 36 195.0
R E XE LD m2 195. 36 195.0
#E t=dcm X & v m2 195. 36 195.0
1Y As 195. 36 X0. 05 n3 9.77 10.0
DTS AR
AT | GO | 1=15embl 4.7+4. 1 m 8.8 9.0
SEEUE L | t=15cmPL T [Xifii & Y m2 398. 64 399.0
REEEE [Xifii & Y m2 398. 64 399.0
F t=5cm ik & v m2 398. 64 399.0
Y4 As 398. 64 X 0. 05 n3 19.93 20.0
FEAT | SO | t=15emPl 6.2+6.2 m 12.4 12.0
AHEIUE L | t=15embh | m2 55. 80 56.0
AREREIE m2 55.80 56.0
] t=dcm X & v m2 55. 80 56.0
1Y As 55.8X0. 05 n3 2.79 3.0
FM At
X i W=15cm 9. 0%2 m 18.0 18.0
i3 ETE
X i W=15cm 9/2 m 4.5 5.0




